Glaciation

Try completing this without using the word box below. Only resort to it if you get really stuck!

_______ are small ice sheets.

The three main processes of glacial erosion are _______ _______, _______ and _______.

An armchair shaped hollow in the side of a mountain is called a ______. It is the result of glacial erosion.

A narrow knife-edge ridge separating two corries is called an _______.

When three or more corries form on the side of a mountain a _______ ______ is formed. 

A __ _______ valley is formed when a glacier erodes the sides and bottom of a v-shaped valley. 

A _____ is a lake in a corrie. 

A long, narrow lake found in a u-shaped valley is known as a ______ _______. 

A tributary glacial valley which has eroded much slower than the main valley is known as a  ______ _______.


Word Box:





Glaciers         abrasion         corrie                  arete                  pyramidal





u shaped                 hanging        Plucking               freeze               thaw                         





peak                tarn                  ribbon                   lake                     valley











